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INSTRUCTIONS

1. All questions are of objective type having four answer options for each. Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than one answer, ¥ mark will be deducted,

2. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B,C,orD.

3. Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles,

4. Mark the answers only in the space provided. Do not make any stray mark on the OMR,

5. Write question booklet number and your roll number carefully in the specified locations of
the OMR. Alsc fill appropriate bubbles,

6.  Write your name (in block letter), name of the examination centre and put your full signature
in appropriate boxes in the OMR.

7. The OMR is liable to become invalid if there is any mistake in filling the correct bubbles for
question booklet number/roll number or if there is any discrepancy in the name/ signature of
the candidate, name of the examination centre. The OMR may also become invalid due to

folding or putting stray marks on it or any damage to it. The consequence of such invalidation
due to incorrect marking or careless handling by the candidate will be sole responsibility of
candidate,

8. Candidates are not allowed to carry any written or printed material, calculator, pen, docu-
pen, log table, wristwatch, any communication device like mobile phones etc. inside the
examination hall. Any candidate found with such items will be reported against and his/her
candidature will be summarily cancelled.

9. Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.

11. This paper contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version, However, if any discrepancy(ies) is /are found
between the two versions, the information provided in the English version will stand and will
be treated as final.
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BIOLOGICAL SCIENCES

1.  Motor nerves carry impulse from
(A) Drain to organ (B) organ to organ
(C) one part of brain to another part of brain (D) organ to brain
TERE WP Wt TR e
(4) RT WF WX (B) ¥ T WX
(©) TN @F W T T WP (D) W (@ AR

2, A vein carries blood from the
(A) heart to peripheral part of the body (B) heart to respiratory organ
(C) peripheral part of the body to heart (D) heart to brain
frt o = @
(A) TeFis wF view [y W (B) Tes F WH wor
(€ TR Rty @ @@ wefins D) =efis e ez

3. Which immunoglobulin is abundant in colostrum ?
TRCTE 3 BRETmaReiem @ =fme e ;
(A) IgD (B) IgA
(C) IgE (D) IgM

4. Much of the research on gene expression has been done with Escherichia coli. This is a
(A) Plasmid (B) Virus
(C) Bacteria : (D) Protozoa

B wee fft wow @ g s QMR  Escherichia coli @3 T*@ | o
i

(A) s (B) w©I¥wH
(C) =i (D) TeRGIET

5. How many flagella do Trypanosoma have 7
QRN viee #0 e o 7
(A) 1 B) 2
c 3 (D) 4
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6.  HIV is transmitted by
(A) air (B) - water
(C) sexual contact (D) soil
HIV (@7 RGNS 2
(A) TR WG (B) SR WHITH
(C) TR e T (D) WiBF WA

7. Edward Jenner vaccinated himself against smallpox by using
(A) smallpox virus
(B) cowpox virus
(C) toxoid
(D) arecombinant protein from smallpox virus

ﬁmwmwﬁmﬁmmﬁmmﬂmﬁ@ﬂﬁﬁﬁ?ﬁ
FEREM

(a) off FTER ©IRIA WTF

(B) 3 TEA TEFA WF

(C) bIEE TWF

(D) ot TTER ©EIm fwe smeHeE (RIS @ivs W

8.  The technique used to produce large number of identical off-springs is called
(A) PCR (B) Cloning
(C) Northern blotting (D) Southern blotting
@ WAF T W) BRAMT FEE
(A) PCR (B) &M
(© T = (D) A o
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9. Which of the following blood groups enables a person to give blood to any other person ?
(A) Group A (B) GroupB
(C) Group AB (D) Group O
ﬁmwmwwwﬁmﬁﬁwqmwwqﬁmwm
TS MA7
(A) d7-A (B) &*-B

(€) IT-AB D) g#0

10. Rod shaped bacteria are called

(A) Cocci (B) Spirilla
(C) Vibrios (D) Bacilli
RIS BT 2T

(A) F@R (B) P
(C) wERew (D) iR

11. Inflammatory response in allergy is caused by the release of which one of the following
by mast cells ?

(A) Antibody (B) Histamine

(C) Histidine (D) Protamine
%WWW%:WWWWW&%@WH?
(A) anfoefE (B) Rrbrargs

(C) fferzs (D) TefBTaZA

12.  Proteins secreted by virus infected cells are called

(A) Colostrum (B) Histamines
(C) Interferons (D) Interleukins
ORI WFR @F W& e @t e

(A) TG (B) f&Brmes

(C) FToRTEA (D) Forferefew
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13. The first transgenic crop was
(A) Cotton (B) Tobacco
(C) Pea (D) Rice
b transgenic"‘r-'r‘l'lff? LG
(A) T (B) SMUF
(G (D) /b

14. Amoebiasis is treated by using

(A) Penicillin (B) Streptomycin
(C) Chloromycin (D) Metronidazole
it EeR BRE MeT @ TR T2

(a) TARFRR (B) TRABTHERA
(©) EEERH (D) TGS

15. ‘Which microorganism is responsible for changing milk into curd ?
B TERG aE wE-d AR FE T wIg 7

(A) Acetobactor (B) Xanthomonas

(C) Bacillus (D) Lactobacillus

16. Which of the following is a freely movable joint 7

(A) Ball and socket Joint (B) Fibrous joint
(C) Cartilaginous joint (D) Hinge joint
Ie7 @EE S e S 2

(A) 8 I NI (B) TR fEAT
() EREm s (D) e SFE
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17.  The symbiotic relationship that benefits both members of association is

18.

19.

20.

-(A) Amensalism

(C) Mutualism

(B) Commensalism

(D) Parasitism

W fadd o Toy om% Soe 7w W 7w

(A) wREE
©) S

(B) rgfe
(D) GRS

Methanogenic bacteria are most abundant in which one of the following ?

(A) Sulphur rock
(C©) Hot spring

(B) Cattle yard
(D) Polluted stream

ﬂmm@wﬁm@nwmﬁmmﬁmm?

(A) THF (HERR) e
(© T= gERa

Adrenaline and noradrenaline are
(A) emergency hormones

(C) lifesaving hormones
WG R RS %
(A) SEEFAT ZTAEH

(C) WA A

Fertilization of ovum takes place in rabbit,

(A) Ovary
(C) Fallopian tube

(B) =T I <=
(D) ¥Y¥S =ER A

(B) sex hormones

(D) concerned with water balance

(B) T z=awH
(D) O A TR T

man and other placental mammals in

(B) Uterus
(D) Vagina

W,wmwmﬂmﬁﬁ%wﬁmwmﬁww

(A) fEFr
(C) fFecs
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22.

23.
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The layer from which gametes are formed is

(A) columnar epithelium (B) granular epithelinm
(C) germinal epithelium (D) follicular epithelium
™. %9 (9F GEr Bee| T O |

(A) TERE AN e (B) WFMR WEEA e
(C) oo R T (D) offr wRE =

The growth of pollen tube towards ovule is known as:

(A) thigmotropism (B) chemotropism
(C) hydrotropism (D) geotropism
s M@ s e S

(A) st 5en (B) IS B
(C) TS B (D) WETERS beln

Guttation, the process of water loss from plants, takes place through

(A) Hydathode (B) Stomata
(C) Lenticel (D) Cuticle
BfEma we B9 FW PHHR, TW MG W T T
(A) TERF (B) =g

(C) TFF (D) T

Which one of the following is the living element of the xylem ?

(A) Vessel (B) Xylem Fibre

(C) Tracheids (D) Xylem Parenchyma
Ave @RG SEETE TR AR ¢

(A) TS (B) WRATTX ©F

() HifFs (D) AT AMETFRA
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27.
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Which of the following is a gaseous phytohormone ?

(A) TAA (B) ABA
(C) Ethylene (D) Zeatin
Mee @G W FEOEI ¢

(A) IAA (B) ABA
(C) Zfefem (D) s

According to IUBMB, in how may classes all enzymes have been classified ?
IUBMB &R, 798 Berne offe soel (Ate wiv a9 e ¢
(A) 6 (B) 10
(C)y 100 (D) 4

Liquid endnsp:erm is found in

(A) Mango (B) Rice
(C) Coconut (D) Grape
I W OSH T RS

(A) S (B) #H

(C) ¥ RCF= (D) WIed

Which of the following is not required for germination of seed ?

(A) Moisture (B) Oz

(©) CO: (D) Temperature
Jee THEMAET T NG TG AT T A7

(A) SHS! (B) O

(€ CG2 (D) Swl
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31.

32,

33.
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Which of the following organism is not associated with biological nitrogen fixation ?

o TREEE feea s MY ApT TR FRART @I W W
(A) Anabaena (BY Rhizobium
(C) Nostoc (D) Chlorella

Plants grow in length due to activity of

(A) apical meristem (B) lateral meristem
(C) intercalary meristem (D) ground meristemn
e iR 96 Tm ST

(A) W&E ©OEF T (B) =mfEomF Fa
(©) FEfT sEw =l (D) o oEe FW

Budding is an example of

(A) sexual reproduction (B) asexual reproduction
(C) vegetative reproduction (D) apomixis
RIEEWST I EaEsd

(A) TR & (B) AN TR

(C) ==e WA (D) B "

Among the following elements which is NOT essential to plants

(A) Zinc (B) Magnesium

(C) Molybdenum (D) Chromium
Az ChimefeR W0 @RGSRt wW WRMTE T 7

A) w1 (&) (B) HIsTARTHY

(C) erqreara (D) TeFRrg

Plants absorb water from soil mainly through

(A) tip of the roots (B) permanent region of roots
(C) elongation zone (D) root hairs

Bfew w W WE 49Ee wE DUET I W A

(A) T EIE (B) W FA W
©) Yom Afp wwE (D) eTCar
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34. Humans share their ancestry more closely with

{A) Gorilla (B) Chimpanzees
(C) Hanuman Langurs (D) Orangutans
T fAebew &R 7=

(A) e B) Py

C) T 779 (D) SAESHH

35. Analogous organs represent the organs with
(A) different origin but similar functions
(B) common origin and common functions
(C) different origin and different functions
(D) common origin but different functions

TRE W TS TR WHE @A AEA
(A) A& wem [ T g9
(B) Senfs qF @3 IE-9 gGF
(C) e W&Em, FIE-6 wEm
(D) Teofs g W T w=m

36. Antibodies in our body are produced by

(A) red blood cells (B) B-lymphocytes
(C) T-lymphocytes (D) monocytes
A TR SIFoaf (O T W WEF O %H
(A) TiRs Toafm (B) B-fr=ermis
(C) T-fr=emrss (D) ARG

37. BCG is a vaccine that provides protection against
(A) influenza (B) hepatitis -B
(C) whooping cough (D) tuberculosis
BCG B v wiem Retm @ @z
(A) T graa (B) TZ#GIRGH -B
© = sk ‘ (D) T
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38, The solid ball of cells formed from zygote because of cleavage is called

{A) Blastomere (B) Morula

(C) Blastula (D) Gastrula

THATMBY e o6 g9 W W e @reg 09 29 o e
(A) FEEm (B) &l

(© e (D) g

39. Which of the following scientists first proposed the cell theory ?

AP =W @A 9w @Y ER SEREE 7
(A) Schleiden and Schwann (B) Sutton and Boveri
(C) Watson and Crick (D} Darwin and Wallace

40. Octopus belongs to which phylum ?

(A) Mollusca (B} Porifera

(C) Chordata | (D) Echinodermata
AR @R TR SR

(A) TH=E (B) Rz

(C) TEBI (D) ZIECACG

41. 'Which one of the following statements is wrong ?
(A) Insects have one pair of simple eyes
(B) Centipedes have one pair of antennae
(C) Millipedes have no larval form
(D) Scorpions have no antennae
IEs @R SET g
(A) “TORRE GIEIG] FFell® A
(B) *SoMIME GICAS I AWF
© Feefl @Ee @ e W A

(D) FREfER @A ¥F A
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Which one of the following results in climax community 7

(A) Competition (B) Succession
(C) Cohabitation (D) Amensalism
ABT @AGET T N TR T3 W0 ¢

(A) afsrafie (B) ==l
(C) “”RIH (D) REareret

Which acid(s) is/are mostly associated with acid rain ?

(A) Sulphuric acid (B) Nitric acid

(C) Both (A)and (B) (D) None of the above
Wit e @R Wik @ witvef ke tRm wEE A
(A) TeesRe wmie B) =2z v

(€) (A) 9 (B) o2 (D) BEF RIADE %

Five kingdom classification system was proposed by

(A) Charles Darwin (B) Lamarck

(C) R.H. Whittaker (D) G.J. Mendel
M5 e R R ey e wEkEE

(A) BT ©REEA (B) =i

(C) SR 9BF BIORE (D) & & tes

Which of the following is a biodegradable pollutant ?

(A) Sewage (B) Plastic
(C) Polythene (D) DDT
Mer @At SR-Rerw w0 e

(A) TER TRA wE (B) ==
(C) =fefes (D) DDT
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46, CFCs are responsible for

(A) ozone layer depletion (B) global warming

(C) acidrain (D) None of the above

CFCA™ o=y Wit

(A) STEF TER A (B) Frg Tmmyd

€ wfe e (D) «a THCBE 7
47. The pyramid that is never inverted:

(A) Energy (B) Biomass

(C) Number (D) None of the above

@ frfites 967 R OB T A O T

(A) ER-E (B) w7

(C) GR-REM (D) B TFAGE 7

48. 'Which one of the following is not a greenhouse gas ?

e At qR-TBA O FW2
(A) CO, B) O,

© SO, (D) CH,

49. According to five kingdom classification, bacteria belongs to

(A) Protista _ (B) Monera
(C) Plantae (D) Archaea
WG W AR ORI SR TN
(A) TR (B) W&H
(C) #Amd (D) Wi
50. Gas responsible for the Bhopal gas disaster in 1984 was:
(A) Ethyl isocyanate (B) Potassium isocyanate
(C) Methyl isocyanate (D) Sodium isocyanate
Spbe8 TE TS U NOwE S A oD %
(A) EWZH SWEHPINIEG (B) < SIETATACD
(C) Frgw SRGAERIG (D) TARA SIECAAHAG
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